

PRINCE FREDERICK WATER LINE EXTENSIONS - PHASE I

BID COMPARISON									
Item #	Description	Unit of Measure	Estimated Quantity	Bidder					
				ECM Corporation		Gradient Construction		Francos Liberty Bridge	
				Unit Price	Total	Unit Price	Total	Unit Price	Total
SCHEDULE A. BASE BID									
A-1	Mobilization	Lump Sum	1	\$37,798.00	\$37,798.00	\$23,740.00	\$23,740.00	\$47,362.00	\$47,362.00
A-2	Maintenance of Traffic	Lump Sum	1	\$50,000.00	\$50,000.00	\$9,936.00	\$9,936.00	\$44,750.00	\$44,750.00
A-3	Erosion and Sediment Control	Lump Sum	1	\$3,500.00	\$3,500.00	\$8,860.00	\$8,860.00	\$23,000.00	\$23,000.00
A-4	Furnish and Install PVC Restrained Joint Water Main Outside Roadway	Linear Foot	1570	\$120.00	\$188,400.00	\$58.69	\$92,143.30	\$145.00	\$227,650.00
A-5	Furnish and Install PVC Restrained Joint Water Main in Roadway	Linear Foot	2950	\$130.00	\$383,500.00	\$205.04	\$604,868.00	\$145.00	\$427,750.00
A-6	Furnish and Install 12" Gate Valve	Each	8	\$4,500.00	\$36,000.00	\$2,922.92	\$23,383.36	\$6,412.00	\$51,296.00
A-7	Furnish and Install 8" Gate Valve	Each	2	\$2,500.00	\$5,000.00	\$1,740.88	\$3,481.76	\$4,995.00	\$9,990.00
A-8	Connect to Existing 8" Water Line	Each	1	\$800.00	\$800.00	\$3,083.83	\$3,083.83	\$5,225.00	\$5,225.00
A-9	Connect to Existing 12" Water Line	Each	1	\$2,500.00	\$2,500.00	\$3,951.07	\$3,951.07	\$8,195.00	\$8,195.00
A-10	Furnish and Install Fire Hydrant Assembly	Each	5	\$6,800.00	\$34,000.00	\$5,003.91	\$25,019.55	\$8,745.00	\$43,725.00
A-11	Furnish and Install Water Combination Air Valve	Lump Sum	1	\$8,000.00	\$8,000.00	\$11,619.08	\$11,619.08	\$10,965.00	\$10,965.00
SUBTOTAL A - TOTAL BASE BID				\$749,498.00		\$810,085.95		\$899,908.00	

SCHEDULE B. CONTINGENT ITEMS

Item #	Description	Unit of Measure	Estimated Quantity	Bidder					
				ECM Corporation		Gradient Construction		Francois Liberty Bridge	
				Unit Price	Total	Unit Price	Total	Unit Price	Total
B-1	Contingent Unclassified Excavation	Cubic Yard	70	\$100.00	\$7,000.00	\$38.00	\$2,660.00	\$46.00	\$3,220.00
B-2	Contingent Porous Fill #57 Stone	Ton	80	\$35.00	\$2,800.00	\$43.00	\$3,440.00	\$52.00	\$4,160.00
B-3	Contingent CR-6 (Crusher Run) Graded Aggregate	Ton	100	\$35.00	\$3,500.00	\$40.00	\$4,000.00	\$52.00	\$5,200.00
B-4	Contingent Miscellaneous Concrete	Cubic Yard	10	\$250.00	\$2,500.00	\$216.00	\$2,160.00	\$242.00	\$2,420.00
B-5	Contingent Hot Mix Asphalt Pavement	Ton	50	\$120.00	\$6,000.00	\$178.00	\$8,900.00	\$225.00	\$11,250.00
B-6	Contingent Off-Site Borrow	Cubic Yard	100	\$50.00	\$5,000.00	\$78.00	\$7,800.00	\$38.00	\$3,800.00
SUBTOTAL A - TOTAL BASE BID				\$26,800.00		\$28,960.00		\$30,050.00	

TOTAL BID PRICE

Description	Bidder		
	ECM Corporation	Gradient Construction	Francois Liberty Bridge
Schedule A Subtotal A - Total Base Bid	\$749,498.00	\$810,085.95	\$899,908.00
Schedule B Subtotal B - Total Base Bid	\$26,800.00	\$28,960.00	\$30,050.00
Total Bid Price	\$776,298.00	\$839,045.95	\$929,958.00

Item #	Description	Unit of Measure	Estimated Quantity	Bidder					
				Amerigal Construction Company		Jimmy Richards & Sons Excavating		BA Construction	
				Unit Price	Total	Unit Price	Total	Unit Price	Total
SCHEDULE A. BASE BID									
A-1	Mobilization	Lump Sum	1	\$42,000.00	\$42,000.00	\$30,016.00	\$30,016.00	\$61,593.27	\$61,593.27
A-2	Maintenance of Traffic	Lump Sum	1	\$55,000.00	\$55,000.00	\$85,000.00	\$85,000.00	\$62,038.06	\$62,038.06
A-3	Erosion and Sediment Control	Lump Sum	1	\$35,000.00	\$35,000.00	\$38,591.00	\$38,591.00	\$9,151.00	\$9,151.00
A-4	Furnish and Install PVC Restrained Joint Water Main Outside Roadway	Linear Foot	1570	\$109.00	\$171,130.00	\$124.58	\$195,590.60	\$160.16	\$251,451.20
A-5	Furnish and Install PVC Restrained Joint Water Main in Roadway	Linear Foot	2950	\$200.00	\$590,000.00	\$195.46	\$576,607.00	\$173.32	\$511,294.00
A-6	Furnish and Install 12" Gate Valve	Each	8	\$2,900.00	\$23,200.00	\$3,248.25	\$25,986.00	\$4,985.50	\$39,884.00
A-7	Furnish and Install 8" Gate Valve	Each	2	\$2,250.00	\$4,500.00	\$1,461.00	\$2,922.00	\$4,730.10	\$9,460.20
A-8	Connect to Existing 8" Water Line	Each	1	\$4,900.00	\$4,900.00	\$2,683.00	\$2,683.00	\$10,219.16	\$10,219.16
A-9	Connect to Existing 12" Water Line	Each	1	\$5,000.00	\$5,000.00	\$2,816.00	\$2,816.00	\$10,431.16	\$10,431.16
A-10	Furnish and Install Fire Hydrant Assembly	Each	5	\$5,900.00	\$29,500.00	\$6,399.60	\$31,998.00	\$6,838.20	\$34,191.00
A-11	Furnish and Install Water Combination Air Valve	Lump Sum	1	\$11,000.00	\$11,000.00	\$5,278.00	\$5,278.00	\$15,840.10	\$15,840.10
SUBTOTAL A - TOTAL BASE BID				\$971,230.00		\$997,487.60		\$1,015,553.15	

SCHEDULE B. CONTINGENT ITEMS

Item #	Description	Unit of Measure	Estimated Quantity	Bidder					
				Amerigal Construction Company		Jimmy Richards & Sons Excavating		BA Construction	
				Unit Price	Total	Unit Price	Total	Unit Price	Total
B-1	Contingent Unclassified Excavation	Cubic Yard	70	\$60.00	\$4,200.00	\$32.00	\$2,240.00	\$98.80	\$6,916.00
B-2	Contingent Porous Fill #57 Stone	Ton	80	\$50.00	\$4,000.00	\$39.00	\$3,120.00	\$83.65	\$6,692.00
B-3	Contingent CR-6 (Crusher Run) Graded Aggregate	Ton	100	\$60.00	\$6,000.00	\$40.00	\$4,000.00	\$60.56	\$6,056.00
B-4	Contingent Miscellaneous Concrete	Cubic Yard	10	\$900.00	\$9,000.00	\$517.00	\$5,170.00	\$217.03	\$2,170.30
B-5	Contingent Hot Mix Asphalt Pavement	Ton	50	\$250.00	\$12,500.00	\$195.00	\$9,750.00	\$121.31	\$6,065.50
B-6	Contingent Off-Site Borrow	Cubic Yard	100	\$80.00	\$8,000.00	\$32.00	\$3,200.00	\$65.86	\$6,586.00
SUBTOTAL A - TOTAL BASE BID				\$43,700.00		\$27,480.00		\$34,485.80	

TOTAL BID PRICE

Description	Bidder		
	Amerigal Construction Company	Jimmy Richards & Sons Excavating	BA Construction
Schedule A Subtotal A - Total Base Bid	\$971,230.00	\$997,487.60	\$1,015,553.15
Schedule B Subtotal B - Total Base Bid	\$43,700.00	\$27,480.00	\$34,485.80
Total Bid Price	\$1,014,930.00	\$1,024,967.60	\$1,050,038.95

Item #	Description	Unit of Measure	Estimated Quantity	Bidder					
				Locust Lane		R.E. Sheehi Trucking & Paving		Reliable Contracting	
				Unit Price	Total	Unit Price	Total	Unit Price	Total
SCHEDULE A. BASE BID									
A-1	Mobilization	Lump Sum	1	\$42,817.79	\$42,817.79	\$5,157.00	\$5,157.00	\$8,251.00	\$8,251.00
A-2	Maintenance of Traffic	Lump Sum	1	\$74,760.00	\$74,760.00	\$15,850.00	\$15,850.00	\$36,700.00	\$36,700.00
A-3	Erosion and Sediment Control	Lump Sum	1	\$24,036.88	\$24,036.88	\$11,210.00	\$11,210.00	\$11,239.50	\$11,239.50
A-4	Furnish and Install PVC Restrained Joint Water Main Outside Roadway	Linear Foot	1570	\$106.07	\$166,529.90	\$152.00	\$238,640.00	\$168.50	\$264,545.00
A-5	Furnish and Install PVC Restrained Joint Water Main in Roadway	Linear Foot	2950	\$214.08	\$631,536.00	\$263.50	\$777,325.00	\$263.50	\$777,325.00
A-6	Furnish and Install 12" Gate Valve	Each	8	\$3,993.60	\$31,948.80	\$4,650.00	\$37,200.00	\$3,770.50	\$30,164.00
A-7	Furnish and Install 8" Gate Valve	Each	2	\$2,666.14	\$5,332.28	\$3,360.00	\$6,720.00	\$2,315.00	\$4,630.00
A-8	Connect to Existing 8" Water Line	Each	1	\$6,935.52	\$6,935.52	\$10,513.00	\$10,513.00	\$7,274.50	\$7,274.50
A-9	Connect to Existing 12" Water Line	Each	1	\$10,889.15	\$10,889.15	\$10,162.00	\$10,162.00	\$7,311.50	\$7,311.50
A-10	Furnish and Install Fire Hydrant Assembly	Each	5	\$6,176.77	\$30,883.85	\$9,800.00	\$49,000.00	\$6,910.50	\$34,552.50
A-11	Furnish and Install Water Combination Air Valve	Lump Sum	1	\$5,912.64	\$5,912.64	\$16,218.00	\$16,218.00	\$12,105.50	\$12,105.50
SUBTOTAL A - TOTAL BASE BID				\$1,031,582.81		\$1,177,995.00		\$1,194,098.50	

SCHEDULE B. CONTINGENT ITEMS									
Item #	Description	Unit of Measure	Estimated Quantity	Bidder					
				Locust Lane		R.E. Sheehi Trucking & Paving		Reliable Contracting	
				Unit Price	Total	Unit Price	Total	Unit Price	Total
B-1	Contingent Unclassified Excavation	Cubic Yard	70	\$83.58	\$5,850.60	\$68.00	\$4,760.00	\$27.00	\$1,890.00
B-2	Contingent Porous Fill #57 Stone	Ton	80	\$83.14	\$6,651.20	\$38.00	\$3,040.00	\$49.00	\$3,920.00
B-3	Contingent CR-6 (Crusher Run) Graded Aggregate	Ton	100	\$82.82	\$8,282.00	\$38.00	\$3,800.00	\$47.50	\$4,750.00
B-4	Contingent Miscellaneous Concrete	Cubic Yard	10	\$561.63	\$5,616.30	\$180.00	\$1,800.00	\$279.00	\$2,790.00
B-5	Contingent Hot Mix Asphalt Pavement	Ton	50	\$326.52	\$16,326.00	\$115.00	\$5,750.00	\$105.00	\$5,250.00
B-6	Contingent Off-Site Borrow	Cubic Yard	100	\$73.08	\$7,308.00	\$36.00	\$3,600.00	\$36.50	\$3,650.00
SUBTOTAL A - TOTAL BASE BID				\$50,034.10		\$22,750.00		\$22,250.00	

TOTAL BID PRICE			
Description	Bidder		
	Locust Lane	R.E. Sheehi Trucking & Paving	Reliable Contracting
Schedule A Subtotal A - Total Base Bid	\$1,031,582.81	\$1,177,995.00	\$1,194,098.50
Schedule B Subtotal B - Total Base Bid	\$50,034.10	\$22,750.00	\$22,250.00
Total Bid Price	\$1,081,616.91	\$1,200,745.00	\$1,216,348.50

Item #	Description	Unit of Measure	Estimated Quantity	Bidder			
				Total Civic Construction & Engineering		Schummer	
				Unit Price	Total	Unit Price	Total
SCHE DULE							
A-1	Mobilization	Lump Sum	1	\$76,745.00	\$76,745.00	\$72,800.00	\$72,800.00
A-2	Maintenance of Traffic	Lump Sum	1	\$283,070.00	\$283,070.00	\$3,000.00	\$3,000.00
A-3	Erosion and Sediment Control	Lump Sum	1	\$186,387.00	\$186,387.00	\$4,000.00	\$4,000.00
A-4	Furnish and Install PVC Restrained Joint Water Main Outside Roadway	Linear Foot	1570	\$84.16	\$132,131.20	\$156.00	\$244,920.00
A-5	Furnish and Install PVC Restrained Joint Water Main in Roadway	Linear Foot	2950	\$252.92	\$746,114.00	\$409.00	\$1,206,550.00
A-6	Furnish and Install 12" Gate Valve	Each	8	\$7,419.63	\$59,357.04	\$3,400.00	\$27,200.00
A-7	Furnish and Install 8" Gate Valve	Each	2	\$2,570.00	\$5,140.00	\$1,900.00	\$3,800.00
A-8	Connect to Existing 8" Water Line	Each	1	\$11,479.00	\$11,479.00	\$11,000.00	\$11,000.00
A-9	Connect to Existing 12" Water Line	Each	1	\$11,889.00	\$11,889.00	\$12,500.00	\$12,500.00
A-10	Furnish and Install Fire Hydrant Assembly	Each	5	\$7,375.40	\$36,877.00	\$8,500.00	\$42,500.00
A-11	Furnish and Install Water Combination Air Valve	Lump Sum	1	\$6,693.00	\$6,693.00	\$10,500.00	\$10,500.00
SUBTOTAL A - TOTAL BASE BID				\$1,555,882.24		\$1,638,770.00	

SCHEDULE B. CONTINGENT ITEMS

Item #	Description	Unit of Measure	Estimated Quantity	Bidder			
				Total Civic Construction & Engineering		Schummer	
				Unit Price	Total	Unit Price	Total
B-1	Contingent Unclassified Excavation	Cubic Yard	70	\$55.03	\$3,852.10	\$10.00	\$700.00
B-2	Contingent Porous Fill #57 Stone	Ton	80	\$69.09	\$5,527.20	\$30.00	\$2,400.00
B-3	Contingent CR-6 (Crusher Run) Graded Aggregate	Ton	100	\$96.14	\$9,614.00	\$30.00	\$3,000.00
B-4	Contingent Miscellaneous Concrete	Cubic Yard	10	\$943.60	\$9,436.00	\$300.00	\$3,000.00
B-5	Contingent Hot Mix Asphalt Pavement	Ton	50	\$195.84	\$9,792.00	\$150.00	\$7,500.00
B-6	Contingent Off-Site Borrow	Cubic Yard	100	\$48.29	\$4,829.00	\$45.00	\$4,500.00
SUBTOTAL A - TOTAL BASE BID				\$43,050.30		\$21,100.00	

TOTAL BID PRICE

Description	Bidder	
	Total Civil Construction & Engineering	Locus Lane
Schedule A Subtotal A - Total Base Bid	\$1,555,882.24	\$1,638,770.00
Schedule B Subtotal B - Total Base Bid	\$43,050.30	\$21,100.00
Total Bid Price	\$1,598,932.54	\$1,659,870.00